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2. A g A =22y -x2+33, B=2xy> +2y°,C = 23 +,%9
tiste] (24 — B) + C & AASHA?

@ 2x% — 4x?y + 3y° @ x4 2x% —y?
® 2x3 4 4x%y - y? <@>x3 4 4x2y 43
® 2 +4°

(24-B)+C
= 4x%y - 2% + 2% = (<207 + 2%) + 2% + )
=x3 +4x%y +y3

(24— B) +C
=x3 +4x%y +y°
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4. (x+1)° = ap + a1 x +asx® + azx® +asx* + asx® ©] xof thgt F5A4d
W, ap + a1 + az + asz + a4 + a5 2] = FoFA?
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FHol x = 1S i Ydsta,
(1+1)¥° =ag+a+ -+ +as°|B=Z
25 =32
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7. (1252 = 75%) = (5 + (30 — 50) + (—4)} 9] 27

@® 75 @ 125 ® 900 @1000 ® 1225

B

1252 — 752 = (125 + 75)(125 — 75)
= 200 x 50 = 10000

20
5+ (30-50) + (~4) = 5+ = =10

(¥ 41)= 10000 + 10 = 1000
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9.  xof W AFA B+ ma? +nx+1E x+ 12 YFH Y z]7t 50]4,
x— 28 UFA Urojdoj Aty gt} o] wf, —3(m + n) 9] 257

@ 4 @ 8 ® 12 (@)14 ® 18

B ~

f(x)=x>+mx? +nx+1
=(x+1)Q0(x)+5

flx)=x34+mx®+nx+1
=(x-2)0 (v
Sf(-1)=-1+m-n+1=5
f(2)=8+4m+2n+1=0
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Lm4n = —5 -3(m+n) =14
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=(x242)2-x2
= +x+2)(x2-x+2)
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-1%x2=-2




